
 Points  

Question 1.a
1 message/4 slots

1 message/2 slots

1 message/slot

2 messages/slot

Question 1.b
1 message/4 slots

1 message/2 slots

1 message/slot

2 messages/slot

Question 1.c
1 message/4 slots

1 message/2 slots

1 message/slot

2 messages/slot

Question 1.d.a
1 message/4 slots

1 message/2 slots

1 message/slot

2 messages/slot

Question 1.d.b
1 message/4 slots

1 message/2 slots

1 message/slot

2 messages/slot

Question 1.d.c
1 message/4 slots

1 message/2 slots

1 message/slot

2 messages/slot

Question 1.e.a
1 message/4 slots

1 message/2 slots

2 message/3 slots

Results for Assignment 6 submitted 29.03.2012

Assessment Godkjent

Percentage score 100.00%

Total score: 12.00 out of a possible 12.00 points

Result list

No Question Submitted answer  

1 1.00 of 1.00

2 1.00 of 1.00

3 1.00 of 1.00

4 1.00 of 1.00

5 1.00 of 1.00

6 1.00 of 1.00

7 1.00 of 1.00
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1 messages/slot

Question 1.e.b
1 message/4 slots

1 message/2 slots

2 message/3 slots

1 messages/slot

Question 1.e.c
1 message/4 slots

1 message/2 slots

2 message/3 slots

1 messages/slot

Question 2.a
Yes

No

Cannot be decided

Question 2.b
Yes

No

Cannot be decided

Question 3
DIFS + SIFS + 182 µs

DIFS + 2SIFS + 182 µs

DIFS + 2SIFS + 1455 µs

DIFS + 3SIFS + 1547 µs

1 to 12 of 12

8 1.00 of 1.00

9 1.00 of 1.00

10 1.00 of 1.00

11 1.00 of 1.00

12 1.00 of 1.00


